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>> fs=8000;

>> t=0:1/fs:1;

>> f=440;

>> y=sin(2 *pi *f *t);

>> wsize=256;

>> nl=l;

>> tl=(nl —1)ffs;

>> n2=129;

>> t2=(n2 —1)ffs;

>> sl=fft(y(nl:n1+wsize —1). *hann(wsize) ');
>> plot (log (abs(sl)))

>> s2=fft (y(n2:n2+wsize —1). *hann(wsize )");
>> thl=angle(s1(15));

>> th2=angle(s2(15));

>> n=0:10;

>> (th2 —thl1+2 *n*pi)/(2 +*pi *(t2 —t1))

ans =
Columns 1 through 7
2.5000 65.0000 127.5000 190.0000 252.5000 315.0000 377.5000
Columns 8 through 11

440.0000 502.5000 565.0000 627.5000

0000002.5,65,127.5,190, 252, 5,315, 377.5,440,502.5,...(Hz) 0000 000000000000000
0000000000000 8000/256 x 14=437.5 000000000000000000000 440Hz 00O
000000000000000 40Hz00000000000000000000000
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